[bookmark: _GoBack][image: ]
[image: ]

[image: ]
[image: ]
[image: ]

[image: ][image: ]

image6.png
rgaApp - [TS-2018-09-05-10-25 (connected to:COM4)] -a

| File Edit View Mode Scan Graph Head Utiities Window Help

DE ESe @2k h=k@l 0| | @ E< 8 P alalk R D>
Pvs T Scan Time:45:49:43
Torr Total Pressure — 3.51e-007 Nitrogen
— 4.47e-007 Water
1.0x10° — 3.19e-010 Oxygen

— 3.40e-009 mass44
— -1.46e-009 mass55
— -1.53e-009 Helium

B L e e | [ R B T i B W I P i I I R
— 1.50e-009 Argon

1.0x10° AEEEE ‘ T

1.0x10° & MM i | i i e
\ [

1.0x10°° | - - | |

I | -

il l

00:00:00 10:00:00 30:00:00 40:00:00 50:00:00 60:00:00

Time (hh:mm)

For Help, press F1




image7.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

B — "y en
s 1 A 17— st
[Toovoer [ 501V R e —

| m— T T 510UA

e —1- LA T 10000 v
[ rshon |
[T Set Uit Amps 6000 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

\— —_—— 30000 60000-
TS6CG1A == 28878V, 48UA
0.004T

[ rsacr
9.97e-07 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image1.png
FEBIAD Target Heat Sequence Setup

[300 - thetime interval between increments. (in secands)

7000 - the amountto be added to the target heater
after each fime inferval

[459000 - the value that the target heater is requirec! to reach.

7000 - the amountto be added to the tube heater
after each fime inferval
[750000 - the value that the tube heater is required to reach.
T.0005-06 - the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

5000506 - ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.
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FEBIAD Target Heat Sequence Setup
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- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.
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